EXTRA PRACTICE:
Percent Yield Practice #2



Name: ________________________
1. In a decomposition reaction of CaCO3 (s), in which CaO(s) and CO2 (g) are produced, what is the percent yield if 14.2 g CaO(S) is actually produced when 25.5 g CaCO3 (s) is heated?







2. Quicklime, CaO(s), can be prepared by roasting limestone, CaCO3 (s), according to the chemical equation below. When 2.00 x 103 g of CaCO3 (s) is heated, the actual yield of CaO (s) is 1.50 x 103 g. What is the percent yield of this decomposition reaction?

___CaCO3 (s) ( ___CaO (s) + ___CO2 (g)







3. Aluminum reacts with an aqueous solution of copper (II) sulfate to produce copper and aluminum sulfate. If 1.85 grams of the limiting reactant, aluminum, reacts and the percent yield of copper is 56.6%, what mass of copper is actually produced?

___Al (s) + ___CuSO4 (aq)  ( ___Cu (s) + ___Al2(SO4)3 (aq)







4. The combustion reaction of methane (CH4) produces carbon dioxide and water. Assume that 2.00 mol of CH4 burned in the presence of 6.00 mol of oxygen. What is the percent yield if the reaction actually produces 68.5 g of water?

___CH4 (g)  + ___O2 (g)  ( ___CO2 (g) + ___H2O (l)





5. If 15.0 grams of copper (II) chloride react with 20.0 grams of sodium nitrate, what is the percent yield of this reaction if 11.3 grams of sodium chloride are experimentally produced in this reaction?








6. If 25.0 grams of iron (III) phosphate and an excess of sodium sulfate react, how many grams of iron (III) sulfate are produced?








a. If 18.5 grams of iron (III) sulfate are actually produced when the reaction is carried out, what is your percent error?







b. Is the answer to the percent yield reasonable? Explain why/why not.





c. If you do this reaction with 15.0 grams of sodium sulfate and get a 65.0% yield, how many grams of sodium phosphate will you make?
